= % A R (6D H>HD5KD)

[ |

HE 1 Zzic J BEERBEEIE, J O EOTFEFEETEIRIV, £,V OFoE, TEAFF/NSVEKREIZ L S0,
2 MERZIzZHANRE,

1 ® 3 3 ® 4, T 0 CREDT)
® —9 @ a = 1 ABHAE AAHDIZEWT
1 —
® —10a + 16b | y=—x+3 fiE LY,
- /BHA = ZAHD = 90°
@ Ea @ 141‘[ (cm3) if:’
/ABH =90° - /ZBAH
® 21 — 8V5 | x=—6+ 4V3
/DAH =90° - /BAH
®| x= 3 . y= —2 ] NG,
o| x - 3tV oW | (&) 2 D1 LABH= ZDAH - @
1
9 , OO | ) 3 LoT, O @k,
18 —-m  Cem®) 2HOMN, THZNELVOT
© 3 @ ) ABHA®AAHD (4
5 A Y
9 (em) Y 3CLEACKE
@W| () 11
2 D) 8x + 12 (N) @0 | ) 10
DE) 10x — 26 (1) 1TABI2AH EBIZ3IHET, 1 ADF 3 MOAE (1) 1 . 4
=T D@ |E5CEVENOT, ST EORR %uw)é T
20 8 (1) 7, 128 0% 3WAMHIL5C LY 0T, 5T @@ = (em)
1
@) Yl_‘o‘*+ 3 (M) PEOHR 7= £ VDb, @) 51t ( em?)
Endox - 19 )
®
ko - 164 ()




